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7 5 EEEN - FREL KAR | KR | BR[| BHRE [ . BOD|COD| SS | DO cl
ALK A H = PEUEH H PN PN «© | co | m (cm) F WE | B | pH mgLlmaDlme)l maw)|  maiL) (mSim)
e [ D ARE AT 1 |"ERk28510 A 19H [10:30 Ky 138 11.0 28| K A5 A e 5L 80 1.0 12 12 13.8
EHREN OA SR O kG CRde) 1 [Frk28411A28 [10:30(fF 44| 46 18| X518 i 80| 20 13| 11 18.4
IR BRI (FE&h) 1 |‘FR%28%10H12H [10:50|=—mefi| 18.0 | 14.0 >30 2.1 [ER 73| <05 25 3] 10 6 6.35
B MUEE R 1 [Frk284E10A18H [10:15]0% 246 18.7 1.9 fige) 2.8 |5 8.0 2.6 1| 93 17,000 4,100
AH | BRI 1 [‘Frk2849HT7H 10:30[ % 288 26.7 0.6 30 [Tk - R JE 5L 90| 48] 11.0 15[ 86 45 257
2 |[‘Frk28F9HTH 10:02|% 25.7| 26.7 0.6 31 [kt - ¥ T 5 91| 46] 110 17 9.2 44 258
3 |[‘Frk28F9HTH 10:46 |2 27.7| 26.8 0.6 31 [Tk - R JE 5L 91| 60][ 130 21| 9.0 45 263
HOBE i B O QB E ) 1 |PEpk284510H28H | 9:20 |2 13.1] 12.6 S>30 - 4.0 [ER 75| 05| 28 5[ 10 15.6
Tl B |/ e 1 [Frk28410A18H |[10:05(0E 245| 215 47 93 [Fikta 4.0 |3 8.3 2.1 6| 66 15,000 4,500
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IR R O 9 S Ik Rt 1 |PFERk284E11H2H  [10:10]% 13.1] 16.0 35 [oifkts - ¥ T 5 771 34] 6.9 141 92 550
WEARE |5 #XEE T T (8= ) 1 [Frk28#10A12H [11.03]fF 23.2| 186 >100| % /@, 1.1 [mR 79| 08| 31 4] 11 21
HER FR)IEC BUkiE GEART) 1 [‘Frkesf#11A2H [1155]% 11.6| 14.4 >100[35 6 - ¥R W] 78] 13 24 4] 99 18
TFEEN FERIRT O (FIHED) 1 [Frk28411A10H [10:18|2 11.2( 17.0 >100|4E (2, 1.3 |MaE 7.6 3.4 2| 75 13,200 3,750
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w2 n (TERK) 1 [FrkestE11A1H | 955 |l 12.2] 18.2 0.8 24 (K Fikta 24.0 4R 75 3.4 5.1 3,100
RO (EX) 1 [FrkesfE11A1H  [12:10|2 1441 19.2 22| >100|iEHEfE 6 [ 7.4 2.9 2.9 3,430
TR (BRI 1 |[Frk28%10A13H | 950 [& 19.5] 21.0 2.3 [ 41 MR 8.1 3.8 9| 77
JUWRE T {1 IR s o i S ] 1 [‘Frk284E10A13H | 9:40 [ 18.6 | 22.3 2.3 wktath - | 3.3 8.2 2.0 7] 70 16,000 4,100
B [ T i 1 k28510191 | 9:50 [iF 19.7| 165 >50|FE (7, M 5L 75| <05 20 5| 9.4 19 7
EI A I R i T 1 | k28410 19H | 9:25 (W 210 165 >100[ 6.0 |fER 74| 16| 17 1| 9.2 170 100
e B n (&R 1 [*FEk28fE11H2H | 9:30 [IF 169 13.0 >50( 7, 73] 07] 36 4] 93 83
IR | E0) = 5iE (BUETh) 1 [‘Frkes#11A28  [10:30(0 16.0 [ 16.0 >30| (2, I 5L 73| 05| 08 <1 11 8.2
E B FRGHWHEC 1 ['Fpk284E11H2H [10:30]% 8.6 12.0 0.8 34 | Fteth 8.1 [ 9.1 50| 18| 11 14.4
AR B INCEERD) 1 [‘FRk284£10H 250 [11:10]% 18.7] 16.9 >30[| M, 4.0 M5 79 07] 13 51 11 11.56
THE 4 HREEX 1 [Fk28%10H 250 [12:15[i 14.0] 21.0 35 PR - IR 13 [ | 74 3.0 7] 49 4,280
@R AT 1 [Frk28%10A25H [10:00|% 15.0 [ 20.0 2.5 Frte o - Ji i 8.0 17 41 6.2 4,320
Pars IR | EEEE T WA o o 1 [FRk284E10A21H [11:50 [ 222 21.6 2.8 Fkth - R 2.0 [JE5 | 81 2.8 3| 46 118.6
TUERAT | 1 |[Frk28%10A25H [10:06]% 175 19.7 6 40, 0.6 [Mm| 8.7 1.6 3] 72
AT e R G 1 [‘Frk284£10H28H [10:10]% 200 19.0 >100[ZE @ 1.3 [ 741 10] 31 2| 88 16.8
KRB A O (GRH) 1 ['Fpk28# 11790 | 858 [Z k| 14.6 | 18.1 0.8 45 [SEhkth - 7 |[ER 7.8 41 10 11 6,100
NG PN 1 [Frk28%10A25H | 855 = 185 22.0 2.9 IRE - 5| 2.1 8.0 31 2| 56 12,900 3,030
PRI AR 1 [Frke8#10A18H [11:17[0F 25.9 | 24.6 2.9 8.1 2.7 6| 7.7 2,510
AT e R 1 [Frk284E11A1H  [10:05(0 195| 21.8 2.8 B - itk 7.8 1.8 4| 65 17,000
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Rk LB LR o) I okl o JITREE CRaskiLh) 1 | VRk28410 A 19H [12:25(% 26.1| 235 2.0 TR e 771 10| 20 6| 77 7,600 2,200
i (LR (K i 1 k28510026 H [10:10|% 21.2| 23.0 2.5 ka2 2.0 [ 8.1 33 3] 81
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ANEEIE AR &5 RIEA A R 5y i O 1] (m (cm) e I | S| pH (mg/L)|(mg/L)|(mg/L)| (mg/L)|[  (mg/L) (mS/m)
P R 1 ["Fpk28%11A7H | 9:56 [ 15.5| 20.8 9.0 - 8.2 1.6 2] 70

TR 1 [Fpk28%#11A7H [11:26]IF 16.1] 20.4 55 - 8.1 1.7 2 77
e B (L 1 |["Frk28fE1014H | 9:20 |2 20.6 | 23.6 35 Tk 3.1 |5 8.0 2.2 3] 9.0

TR 1 ["Fpk28%11H21H [11:55][i% 19.9| 185 4.0 RS 22 [&E | 83 1.8 2 71

Fih 1 [FEk28%11H4H  [11:20[1 18.0] 21.0 10 s 3.6 [ME& 8.1 1.3 1] 71
SR | S8 0 (FEET) 1 [Frk28%10A19H [10:44[HE 23.1] 227 2.5 >50[k 2.0 [ER 79| 06 21 2] 78 8,300 2,500
N [Ers ek 1 |'Erk284E10H4H | 8:55 [& 27.6| 27.3 1.8 frf 11| % | 6.6 3.6 5[ 42 9,400
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B [ a (095 +) 1 [Frk28410A 141 | 8:03 |[&= 18.2| 19.8 2.5 >30| (2, 1.0 [MER 76| <05 15 3] 82 4,083 1,262
eI 13 [FIREE 1 [Frk284-10A 18 | 9:20 [fF 25.7| 23.2 25 £, T 5 7.9 2.1 41 6.9 4,200
Ve U |0 L 1 |"Frk28%E10H26H [10:50(%= 21.8| 225 2.5 RE3E 5 8.1 30| 34| 76 21,000 4,700
R [AhE 1 [FFk281215H [11:30]% 7.7] 153 45 kT 8.1 16 2] 79 18,000
REARBR (i) PR (55t 1 [Frk28411H 150 |[14:50(fF 24.0] 19.0 38 [ 7R - ¥k 22 | M5 74 09 27| 29 79 660 240
B BRI i) 1 [Frk28#10A31H [11:40(% 205 19.8 >50( Mk, 45 |5 | 73] <05[ 1.9 3] 83 300 110
e B R KN (T TT) 1 [PFpk28%11H17H [12:00]IF 210 17.1 >100| M4 18|mR | 77| 05 14 4] 94 13.4

B EE (O bEBEARTT) | 1 [Fk28fF10H31H [11:50|% 19.3] 18.3 >100[#E (1 25 (R | 74 06| 21 3] 87 11.3
TR [0 Bk 1 | Ppk28410H27H [10:10]i% 28.5] 28.1 1.7 ) 14 ||m5E | 78 1.1] 11] 6.2 52
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